Multiplicar Tres Polinomios (F)

Ot

Simplifique cada expresion.

(59" + 9y (—8y® + 2u7) (9y* — y® — 97)

(z —2)(—4z — 8)(—42° — 62" — 2°)

(—8b* — 7b%)(—8b* — 8b)(2b® 4 3b* — 3b)

(42° — 622)(52° + 42%) (82 + 2° 4 927)

(¢ +79°) (79" — 69")(3¢° + 5g* + 64°)
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Multiplicar Tres Polinomios (F) Respuestas

Simplifique cada expresion.

1 (59° + 9y") (=8y* + 24°) (9" — v — 9y?)
— —360y'? — 518y + 584y'" + 540" — 162y°

2. (2 —2)(—4z — 8)(—42" — 62% — 23)‘
= 1627 + 242% — 602° — 962* — 1623

3. (=8b* — 7b*)(—8b* — 8b)(2b® + 3b* — 3b)
— 12807 + 4320% + 28067 — 1925 — 168°

1 (42® — 62%)(52° + 42%) (82 + 2° + 92?)
= 1602' — 9227 — 262° — 1502" — 2162°

5 (9" +79°) (=79 — 69") (39" + 59" + 697)
= —21¢"% — 200¢'% — 443¢'" — 5404'Y — 2524”
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